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Introduction
[bookmark: _Hlk88742629]During the last RAN4#102-bis-e meeting, good progress was made on the topic of CQI requirements for inter-cell interference MMSE-IRC. 
Some remaining issues are captured in the corresponding WF [1]. The major open topics being:
· Requirement’s definition.
In this contribution we will express our views on the captured open issues and open new discussions, if necessary.
CQI Requirements Setup
Here we discuss open issues, as are left over from the last meeting.

Test setup methodology for signal power
During the discussion in RAN4#102-bis-e following options for test methodology were discussed [1]:
	· Option 1: Define test based on SINR
· Option 2: Define test based on SNR



We understand the viewpoint from Intel in the last meeting about SNR definition being the same for AWGN and interference scenario. And the interference can be then specified using INR for interference scenario alone. 
Both SINR and SNR are feasible for defining signal power, but option 2 of using SNR is more intuitive for a tester.
SINR and T-put ratio for 2 Rx
During the discussion in RAN4#102-e following options for 2 Rx SINR and Throughput ratio (γ) [1]
	Issue 2-2-2: SINR for 2 Rx 
· Option 1: -2 dB
· Option 2: 0dB or -1 dB
Issue 2-2-3: T-put gain for 2 Rx
· Option 1: 2
· Option 2: 1.5



Our simulations result for FDD and TDD setup are captured in [2]. From the captured results it is seen that a suitable value of SINR less than 0 dB with a throughput ratio (γ) of ~1.5 dB is possible for both FDD and TDD requirements. SINR of -2 was used in LTE and for that SINR a suitable value of γ could be 1.5 based on results in [2].
Use SINR of -2 and TP ratio (γ) value of 1.5 for 2 Rx CQI reporting requirements

SINR and T-put ratio for 4 Rx
During the discussion in RAN4#102-e following options for 2 Rx SINR [1]
	[bookmark: _Hlk99371925]Issue 2-2-5: SINR for 4 Rx
· Option 1: -2 dB
· Option 2: SINR requirement for 4Rx should be lower than that for 2Rx
· Option 2a: Consider 3 dB difference for 2 and 4 Rx requirements
Issue 2-2-6: T-put gain for 4 Rx
· Option 1: 2.5
· Option 2: 2
· Option 3: 3
· Option 4: 1.5




From the results presented in [2] we observe a low throughput ratio at 3 dB under the 2 Rx requirements, i.e. at -5dB. We instead prefer to have the same SINR requirement of -2 dB and a higher throughput ratio than that used for 2 Rx.
Use SINR of -2 and TP ratio (γ) value >1.5 for 4 Rx CQI reporting requirements

Conclusion
In this contribution we have provided our views on various open issues related CQI requirements setup.

We have made the following observations and proposals:

Test setup methodology for signal power
1. Both SINR and SNR are feasible for defining signal power, but option 2 of using SNR is more intuitive for a tester.

SINR and T-put ratio for 2 Rx
1. Use SINR of -2 and TP ratio (γ) value of 1.5 for 2 Rx CQI reporting requirements

SINR and T-put ratio for 4 Rx
1. Use SINR of -2 and TP ratio (γ) value of >1.5 for 4 Rx CQI reporting requirements
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